Answers: Uncertainty

Ans. 1

i) Risk averse

ii) Risk neutral

iii) Risk Lover

Ans. 2

i)
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( MRS is increasing as C1 increases.
ii)
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iii)
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( MRS is decreasing as C1 increases.









Ans. 3
a) The probability of receiving $400 is 5/12. The probability of receiving $100 is 7/12


Expected payoff = ($400)(5/12) + ($100)(7/12)

             
   = $166.67 + $58.33 

                           = $225

 b) The utility from $400 is (400)1/2 = 20 utils. The utility from $100 is (100)1/2 = 10 
Expected utility = (20 utils)(5/12) + (10 utils)(7/12)

           

  = 8.33 utils + 5.83 utils

              
  = 14.16 utils

c)  The utility from $169 is (169)1/2 = 13 utils. The utility from rolling the dice (14.16 utils) is greater than the utility from a certain $169, therefore, Connie will turn down the $169 alternative prize and roll the dice.
d)  To convince Connie to accept a cash payment in lieu of rolling the dice the cash payment will have to provide more utility than rolling the dice. The expected utility from rolling the dice is 14.16 utils (see 1b). The cash payment that will yield 14.16 utils is calculated as follows:
14.16 = I1/2 ,   I = 200.51


Connie is indifferent between a cash payment or $200.51 and a roll of the dice. A payment of $200.52 is preferred to the roll of the dice.
Ans. 4

a) 0.25(100×20-202)+0.75(100×6-62) = 823

b) Give 2: U= 100×8-82 = 736. Hence, will choose to play the game 
Ans. 5
Maximize  Expected Utility = 0.1U(Ca) +0.9U(Cna)  

s.t. contraint


Solve the above three equations for values of Ca and Cna

Ca = 8165.213  and   Cna = 10103.18
This is a reverse insurance, not possible in a normal insurance contract meaning that the best Sarah can do is not to buy any insurance at all. Here, the insurance is too expensive. 

Note if the premium charged is 10.3 cents instead off 11 cents, then we will get Ca = 9327.963  and   Cna = 9962.341
� EMBED Equation.3  ���
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